IM3 Unit 1 Notes - Probability

Name M‘\' -

Standards

M2 10.1 I can represent possible outcomes in a 2-way table, tree, Venn diagram, and with
probability statements.

M2 10.2 I can calculate basic and conditional probabilities given frequency of possible
outcomes.

M2 10.3 I can combine outcomes using and, or, and not, and calculate their probabilities.

M2 10.4 I can determine whether two events are independent using two different rules.

Probability

Calculating probabilities
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tree diagrams

2-way frequency tables
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Complement of A

Notation:

A

Meaning:
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Venn Dxagram and Acidltlonal Information; .

HORIOE l

Notation:

ANB

"B intersect B

Intersection of A and B

Meaning:

‘Both evink A and B occur

Venn Diagram and Additional Information:
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Union of A and B

AU B
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Meaning:

Either event A or 6V’¢n~l— B occurs (oc both)

Venn Diagram and Additional Information:

addition rule
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mutually exclusive, disjoint events:
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multiplication rule: £x
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multiplication rule for independent events:
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2 tests for independence: =

test with the definition of independent
A dnd B are indegerdint F P(A]B)= P(A)
or P(B|A) = P

multiplication rule test

B oard B arc indpendent L P(B and 8) = P(A)-P(R)
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